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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you answer the questions.
Answers are to be given on the answer-sheet, which combines both the
tests : _ | :

Please write your Centre Code and Seat No. very clearly (only one digit in
one block). Before Wi'iting your Seat No. get it ascertained from the Centre
Conductor. Please see that no block is left unfilled and even zeros appearing
in the Centre Code and Seat No. are correctly transferred to the appropriate

blocks on the booklet and on the answer-sheet.

Example :

CENTRE CODE wgdaaw| M| H

SEATNO. s wdise (31831917

For éll subsequent'purposes your Centre Code and Seat No. shall remain
‘the same. Centre once allotted will not be changed.

All questions carry one mark each.
Since all questions are compulsory do not try to read through the whole question
paper before beginning to answer it.

(4) Begin with the first question and keep on trying one question after another
till you finish. : :

(6)  If you do not know the answer to any question do not spend much time on
it and pass onto the next one. Time permitting you can come back to the
questions which you have left in the first instance and try them again.
Since the time allotted is very short you should make best use of it. The rough
work is to be done in the box given under each page.

(7)  Remember you have to mark on your answers in “Mental Ab111ty Test”
section of the answer-sheet only.

(8) Answer to each question is to be indicated in the answer-sheet by encircle
by black pen in the appropriate number of alternative in the answer-sheet
from amongst the ones given for the corresponding question in the test booklet.

‘(9) Do not write anything except Centre Code, Seat No. and rough work anywhere
in this booklet. .

(10) Now turn to the next page and start answering the questions.
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—> Directions :

which matches the given group.

MENTAL ABILITY TEST Q. 4 to 7. |—> Directions : In the following questions there is a specific

relation between first and second term. The same relationship exists

In each of the following questions, find out

Select the correct alternative from the given alternatives.

(2)

(4)

-2

4)

(2)

(4)

DK

GT

KPQJ

LOPK

AWQ

QMG

between third and fourth term, which will replace the question mark.

1
; 4. ZN : MA: : WP :?

7. 24, 33 (@ 13,19, 381

1) DJ
, 12, 20 @ 2, 9 19

3) KD
71

5. AZYB : MNOL : : CXWD : ?

7 @ 33 : AN

(1) IRSH
3 (4) 89

(3) - JQRI
18-63 6. SKT : NFO : : VRL
24 4)  30-101 , | @) DMS

SPACE FOR ROUGH WORK ‘ T LN
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.

NMMS : OORW : : HTSE : ?
(. IVVIL' @ JWXG
3 IVWJ (4) KVUG
Q. 8 to 10.] Directions : Find the odd figure.
8. - . % A 25
=/ S Ry c
c (' ) 5 | O )
oY w WNC )
@ @ 3) 4
@ @) , 3) (4)
10. '

£
e

(1) 2) @

@)

SPACE FOR ROUGH WORK
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Q. 11 to 13.

marks in the given series ?

11. 65, 77, 84, 60, 24, 2, ?
B 129 @ 18,18
LR 45' | _ .(4> 48, 55
iz. 7,7, 16, 54, 228, ?
(1) 784 | @ 912
3) 1140 @ 1160
13. 5, 18, 41, 85, ?
1 173 | @ 257
3 172 @ 157

—> Directions : Which number will replace the question

SPACE FOR ROUGH WORK
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14.  Find the correct alternative to replace the question mark in the following

figure :
(1) 140 (2) 132
.3 135 % (4) 138

Q. 15 & 16.—> Directions : Amit, Darshan, Rohit and Pratap are
playing carrom. Amit and Pratap are partners. Pratap is sitting facing

North. Rohit is not sitting to the right to Amit, then —
15. Name the direction Darshan is facing.
(1)  North (2)  South

(3) East . 4) West

SPACE FOR ROUGH WORK
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16. Name the direction which is to the right side of Amit ?

(3)

(1) East
3) North ‘
Q. 17 to 20.
17. (1) CLU
3) AGM
1. (1)’ CR
3) YE
19. (1) TWO
GXP

(2)

4)

(2)
(4)
(2)
4)
(2)

(4)

West

South

—> Directions : Find the odd term out.

JPX

ZTN

DT

JB

SUR

SPACE FOR ROUGH WORK
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20. (1) AD Rl
® vz S
Q 21 & 22.

oT

EK

—> Directions : Arrangement of letters/numbers is given

in a proper manner. Choose the correct alternative from the series of

letters/numbers.

o

22,

ab— —bc—a—da— —abc

(1) cddced ; (2)
" (3) cdbded L : (4)

- 0—10—11—01— —011—

(1) 100100 SN

(3) 010010 : 4)

cddcbd

eddbed

- 101010

010100

SPACE FOR ROUGH WORK

48 of 80
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Q. 23 & 24. > Directions : In each of the following questions one

question figure is given to the left. How will the reflection of the given

figure in water look ? Select the correct alternative.

23. Question Figure

L]

Answer Figures
@ @

InIIATET et

@ ® : o
(1) (2) 3) (4)

24. Question Figure Answer Figures
(1) (2) 3) (4)

25.  Directions : The following is a series of signs that change in particular order.

Find out the correct alternative that will replace the question mark.
OAOM&, AOME[, OMR[A, ?
1  MORAO @ ME[OAO

@) MOAXO 4 MPAOO

SPACE FOR ROUGH WORK
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26. A goldsmith had the ornaments bangles, rings and necklace. Which of the

. following Venn diagram indicates the same ?

&5 34 ey 3) @

Q. 27 to 29. —> Directions : In the following figure, if square

represents girls, triangle represents Tennis players, rectangle

represents swimmers and circle represents tall persons, then answer .

the following questions.

E B

F/G;;\

K J

SPACE FOR ROUGH WORK
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27. Which letter indicates the tall girls that can swim but do not play

Tennis ?
(1) "+ H A2y G
® D (4 ¢

28.  Which letter indicates the tall girls that neither swim nor play

Tennis ?

1) E 2 C
@ G 4 D

29. Which letter indicates the tall boys who can swim but do not play »

Tennis ?
1) K | @ L
@ 1 - @ J

SPACE FOR ROUGH WORK
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Q. 30 to 32.|—> Directions : In each of the following questions there

is a specific relationship between the first and second term. The same
relationship exists between the third and fourth term which will replace

the question mark. Select the correct term from the alternatives given.
300' 30 : 11 : :‘56 v
(1) 60 : (2) 45
3 21 A AP
isi, A
© 29 e
3) 43 4) 53
32, 1322 : 1354 : : 2341 : ?
(1) 2368 .(2) 2375

3) 2385 | 4) 2391

- SPACE FOR ROUGH WORK

NMMS-MS-MAT | VIII| M15 | |52 of 80

4_}5

Q. 33 & 34.|—> Directions : In the following question the given figure
s incomplete. Select the correct alternative which can complete the

figure.

X
A
);(n

X

5

& @) Tl )

L Valn

(1) 3) 4)

34..

Q. 35 to 38.—> Directions : The following is a series of letters and

numbers that come in specific order. Choose the correct alternative

to replace the question mark.

" 86, TysC, QpiD, MiF, K, 1, ?

@) EgR (2)  GgoM

3) HyM | 4) MyH

SPACE FOR ROUGH WORK
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36. EgW, Hy;S, KO, N3K, ?

1) RyH

@) PyG

37. BYX, EVU, HSR, KPO, ?

(1) AZY

3 LON

38. YCW, UG?, QKO, 70K

. SM

3) RN

- (2)

@)

(2)

(4)

(2)

(4)

QoG

QM

MNZ

NMA.

TT

SL

SPACE FOR ROUGH WORK

VIII

M15
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Q. 39 & 40.—> Directions : The following figure is folded to form a

39.

40.

cube. Observe the cube and answer the following questions.

@A

N
\JV

Of the following cube figures find the non-relevant figure ?

] o )
&9 [ L

(1) @) i ) ' @)

If there is \> sign on the top surface of the cube, at that time which

sign will be on the base surface of the cube ?

OFf: | 128

& @ 3) @

SPACE FOR ROUGH WORK
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41.

Find the relation between the number inside the bracket and the number

outside. Hence find out the missing number from the alternatives given :

81(108)144
225(90)36
64(7)196
1 91 el @ 110
(3 112 | @ 130

Q. 42 to 44.}—> Directions : In each of the following, the question figure

42,

changes in a definite way. Find out the correct figure from the

alternative figures that replaces the questibn mark.

Q]:Q” ?
@1 @” @[

() (2) (3) (4)

HK X %

X R KR
> R X S

o e X XK
~——-’
e

w= 5 3 52 58

SPACE FOR ROUGH WORK

NMMS-MS-MAT | VIII | M15
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DAGR  ) e
(1) (2) 3 4)
P9 il 1

9P

PP

sl

P3P

RiR

(D)

@

3)

(4)

SPACE FOR ROUGH WORK
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Q. 45 & 46. —> Directions : Three different positions of a cube are

shown in the figure. Observe the figure and answer the following

questions :

5z £ Va

£ |2 Cf p |7

o 7 R

45. In the figure (ii) which letter is there at the base face of the cube ?
(1) A (2) B
3 D : (4)  all alternatives are correct

46. Which letter will not be there on fhe surface adjacent to the surface having

letter C ?
W A @ B
‘(3 D @) E

SPACE FOR ROUGH WORK

58 of 80
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47. There are two positions of a solid cube. In the figure ’(ii) digit 2 is there on
the base surface of the cube. Replace the question mark in the figure by choosing

the correct alternative.

v 7
3 6 ? 4
AR
® 1 ' @ 5
(3) .6 , (4) all alternatives are correct

Q. 48 to 50.—> Directions : Which number will replace the question

mark ? Choose the correct alternative.

32 41 2T
4. &
55 23 16 29 40 31

(1) 89 (2) 98

3) 114 (4) 125

SPACE FOR ROUGH WORK
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17

21

18

NOTOXO,

1) 15

3 24

=49

SN

37 42
(1) 23

gl 4y

13

95

29 72

Q. 51 to 54. —> Directions :

20

(2)

(4)

82
3028

(2)

(4)

Find the odd term out.

(2)

16

26

21

12

891

@)

51. (1) 473
. (3. 275 4 644
SPACE FOR ROUGH WORK
NMMS-MS-MAT | VIII| M15 | [60 of 80

52.. (1) ' 316 156

@ . 272 @) 182
53: (1) ;—g ) %

3) % 4) %
54. (1) 1863 @ 1242

3) 1045 4) 24-84

SPACE FOR ROUGH WORK
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}_>

Directions : In the folloWing questions, numbers are

h specific rule. According to that rule which alternative

place of question mark ?

Q. 57 & 58. |

the following questions :

57.

58.

Find the number of triangles in the above figure.
(1.6 ; (2) 8

3 10 ) 4) 12

Find the number of quadrilaterals in the above figure.

4y =8 2) 4

@ 5 - 4 6

—> Directions : Observe the following figure and answer

7 631
1270 ?
16 153
2 74
9 (4) 213
16 | 93
12 | 72
21 7
@ 37
4) 83
SPACE FOR ROUGH WORK
TIAT | VIII| M15 | |62 of 80
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59.

60.

61.

In a code language GO = 11 and SIT = 16, then in the same lénguage

DOWN = ?
(1 28 12y 24
"(3) 13 . 4) 14

In a code language if GO = 32 and SIT = 33, then in the same code language

DOWN = ?
;) 28 ; (2) 36
@ 52 | @ 56

In a code language DRIVER = 12 and PEDESTRIAN = 20, then in the same

code language ACCIDENT = ?
1 14 (2) 16

@y 18 0 4) 20

SPACE FOR ROUGH WORK
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Q. 62 to 64. —>Directions : In the following questions there is a specific

relation between first and second figure. The same relationship exists
between the third and fourth figure which will replace the question
mark. Select the correct figure from the alternatives given below each

question.

62.

%
B[

A

4 (2) 3) ’ 4)
63.
e R
= |:m {= ] -
—y ° o0 , ° °
— e
> iy
S o—
D (2) (3) ai) (4)
SPACE FOR ROUGH WORK
NMMS-MS-MAT |VIII | M15 | |65 of 80 : e CARER),




" P P B
° . () ° ‘)
® Ol [P ® |D &
® XX &® &® % P |® XX S |® % ®
oo lo e 0o e 0 e
(1) (2) 3) 4)
Q. 65 & 66. —> Directions : Eight students A, B, C, D, E, F, G and H

are travelling by a car. The car can accommodate at the most five

persons. A

sits in the car in which D is sitting but H is not sitting.

B and C do not sit in the car in which D is sitting. F is travelling

with four

students including A and E. They have not taken G with

them. Answer the following questions.

65. IfA and

E are sitting in the same car, then which of the following statements

is true ?

1) B

is travelling in the same car.

(2)  Five students are sitting in one car.

81 G
5 Y

is not travelling by the same car.

is not sitting in the same car.

SPACE FOR ROUGH WORK
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(1) B and C
3) C and D
Q. 67 to 69.

(2)

66. Who is sitting in the car along with H and G ?

B and D

4)  E and B

—> Directions : Adjacent surfaces of a cube have same

colour. Thus a cube is painted with blue, yellow and green colour. -

If the block is cut by 1 x 1 x 1 ecm dimensions in small blocks, answer

the following questions :

/ _

NN NN

SPACE FOR ROUGH WORK
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67.

68.

69.

How many blocks have only one surface blue and yellow ?
@) -4 2 6

3 8 ' , @) 12

How many blocks have two surfaces green and one surface yellow ?

(1) 4 2 3

TR | (41
How many blocks have only one surface blue ?
1 4 Pt @) e

@ 8 4) 12

SPACE FOR ROUGH WORK
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Q. 70 to 72.—> Directions : In the given questions there is a relation

between Column I and Column II in a code language. The
expressions in Column IT are not arranged in the same order as letters
in Column I. By using the code language answer the following

questions :

Column I - Column 1II
MAT eab
TRY cfa
RIM dbc
KITE | adpq
'70. YEAR = ?
1) fpeq (2) fpec
(3)  apee i 4)  dgec
71 - TIME =%
(1) bdpq (2) adfp
(3)  adbp (4) abcd

'SPACE FOR ROUGH WORK
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72. TAKE = ?
(1) aepq (2)  bepq
(3) aepd ’ (4)  aped

73. Mabhesh is standing facing North. After turning 180°, he travels to South
4 km. Turning to right he travels 5 km, then turning to left he walks 4 km.

Then he walks to East 5 km. How far is he from his starting point ?
(1) 10 km (2) 8 km

@) 7Tkm @y 0 ot

1Q. 74 to 76.—> Directions : Observe the pyramid of alphabets.

Answer the following questions.

15 2 16
17 13 3 14 18
29 19 11 4. 12 20 30
31 27 21 9 5 10 22 28 . 32

95 .80 7 9B GgaL TR g g g o w3 88

“SPACE FOR ROUGH WORK
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4. 31,29, 21:;27,19,.9;21, 11, 9;.9, 4; 102

(RO 22y 12475 _ 2) 20, 30, 32

3) 5,12, 22 4) ° 10, 20, 28

75. 15, 17, 11 16938002 : =-15,:13, 19 17

1) 16, 14, 20 2 12, 10, 24

(3) 18, 20, 28 : 434, 12, 22

76. 18,9, 27 14,°10,28 : : ? : 30, 20, 14

Y C1ar i

(3). 27, 2%

15 2y 29, 19; 13

11 | @) 25, .23,8

SPACE FOR ROUGH WORK
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s standing facing West. He turns to right in 45°. Then he turns 180° Q. 79 to 82. —> Directions : In a code language the word SPORT is

] written in four different languages. Observe the code language given
kwise direction. After some time he .turns 270° in anticlockwise

below and select the correct answer.

m. To which direction he is facing now ? : i -
Word - Code language
Jouth ‘ : 2) North-west SPORT = (1) NLLPS
. (2) SQNOR
Nest (4)  South-west
(3) SOTPR
lder than B by 851 days. A is born on Sunday. What is B’s : 4  HKLIG
y ? ' | | | '~ 79. HOCKEY = SLXPVB

. 80. CRICKET = CIKTRCE
Adonday ; (2) Wednesday

8l. GOLF = EKNF

"hursday - (4)  Sunday 7 '
; 82. SQASH = NMQQG

- SPACE FOR ROUGH WORK

SPACE FOR ROUGH WORK
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Q. 83 & 84. —> Directions : In a garden there are different plants of

Gulab, Mogra, Jai and Chameli. Out of the four friends, three of them
like Gulab, Meera and Neela like Mogra. Except Prachi all like Jai.
Shrushti likes all flowers except Mogra. Prachi aﬁd Neela like Chameli
also. Meera likes only two types of flowers. Answer the following

questions by chooéing the correct alternatives given below.
83. Who does not like Mogra and Jai ? -
(1) Prachi (2) Meera
(3)  Shrushti . ' (4)  Neela
84. . Who likes all types of flowers ?
B (1)  Shrushti (2)  Prachi

(3) Meera j (4) Neela

Q. 85 & 86. —>Directions : Choose the correct mirror image for the

question figure from the given alternatives.

85. Question Figure Answer Figures

. o O >
C]L || | B | -8

aa
oY

(1) (2) ' 3) 4)

SPACE FOR ROUGH WORK
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86. Quéstion Figure Answer Figures

— S e p— s X Fe it

0o o) O 3 e

(1) (2) (3) (4)

Q. 87 & 88. —>Directions : Pankaj walks 20 km to North from point

A. Then he turns right and walks 10 km and reaches a temple. After
walking 20 km to South from the temple he turns left and reaches
to Suresh’s house after walking 5 km. Then he walks 8 km to North

and reaches the railway station.
— Then answer the following questions.

87. How far and to which direction is the railway station from Pankaj’s

house ?
(1) 17 km North-east : (2) 23 km North-east

(3) 63 km East _ (4) 15 km North
88. How far and to which direction is the temple from the railway station ?
(1) 33 km East ; (2) 28 km North

(3) 13 km North-west @ 15 km South-west

SPACE FOR ROUGH WORK
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Q. 89 to 91. —> Directions : In each of the following questions, find

out the terin which matches ther given group.
89. DFW, TVG, CEX
(130 HTs (2) JNQ
3) ~ KMP ‘ 4) EFV
90. CDXW, IJRQ, FGUT |
(1) LMON (2). JHQT
3) KEPW (4) HASX
- 91. DWYV, JQP, HSR
‘ () 2CXW " - (2) KPQ

3) GSR (4) MNO

in each example is different from the others. Find the odd term from

the given alternatives.
92. 17,13, 21, 31, 45, 57, 72
< @ 45

(G0 S Ol - 4) 72

Q. 92 to 94.—> Directions : In the following number series, one term

SPACE FOR ROUGH WORK

93. 6, 15, 33, 66, 141, 285, 573
(1 33 (2) 15
3) 66 4) 141
94. 91, 55, 30, 15,5, 1

LR 2 5

3) 15 _ (4) 30
95. Statement — All locks are doors.

All doors are windows.
Conclusion — (a) Some doors are windows.
b) All windows are locks.

() All windows are doors.

(d) Some locks are not windows.

Find the correct conclusion from the following :

(1) (@) and () (2)  (b) and (c)

(3) (c) and (d) 4) (@) and (d)

NMMS-MS-MAT |VIII| M15 | [76 of 80
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Q. 96 & 97. —> Directions : A square transparent sheet with some

pattern is given below as a problem figure. The sheet is folded on
the dotted lines. How would the pattern then look like ?

96. Question Figure Answer Figures
_ i e
5P | 5P
k it
AN o | V
5P | 5P e ,_JI}:E: i |
(1) (2) (3) (4)
97. Question Figure ‘ Answer Figures
i 7 R R | G 1
| W |
| 0 » * #* #*
W 0| [ #»* H W .3

(1)

the questions that follow :

2)

R 5 s
h ¢k
g d 1

18 m

zab,cdebf

(0]

n

g

X

W

h

y

i

3)

j

(4)

Q. 98 to 100. [—>Directions : Observe the pyramid of letters and answer

SPACE FOR ROUGH WORK

98. ugdb : fst : : xlfh : ?
(1) lox : (2) nwy
(3) ong | _ (4) mnw
99. bsd:uqg::?: xpl
(1) hnf v (2) iwg
eEnte 3 @ fwj
1>00. zcq : igp : : hrf : ?
® ol @ pm

O T ) b

VIII| M15

NMMS-MS-MAT
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